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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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For question 1 to 10, the answers must be expressed in integer or decimal.

HEI1Z10E, EXVAMEHSH /MR

1)

2)

3)

4)

5)

6)

7)

8)

9

10)

56.23 +8.9="?
64.2-6.42="
43 X 0.5=7

34 X 2.5=7
2350 x 0.01 =72
425%X92=7?
472 +25=7
24 + 25% =17

64 X 15+ 30=7

96.2 +3.2 +0.16 =7

[17%0]

[17%0]

[17%0]

[17%0]

[17%0]

[17%0]

[17%0]

[17%0]

[17%0]

[17%0]
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For questions 11 to 15, the answers must be expressed in proper
fraction, integer or mixed number.

BE 11 Z215&8, ERVAUETH. BHAFITHERT.

11) Evaluate 54% + 21% — 1 :
2 [1%]

T & 54% +21% — ; o

12) Evaluate 1 - ; - 115 _ 215 i ; | [1%]
== L N R B S
RI-5 -5 2575

13) Evaluate 3 + % _% | [1%]
Aar& 3+ - o
R34 -3
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14) Evaluate 42 + % X 0.3 + % [1%]
. 2 3
= + — X03+—,
TH 42 s X 03+ -

15) Evaluate 70% —(% + % ) ( [1%]

§+%70%+(%+i)0

15
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16) The area of the front side of the cube is 121 cm?. When [2.0%]

the cube below 1s cut into a net, what is the area of the net
in cm?2?

TEEFENETEER 121 FHEX. JEIEGFES
—EBREARE  ZBREKNIEBEEZ VT HE

\Il?

121 cm?

17)  There are 40 questions in a competition. James answered  [2.1%]

75% correctly. How many questions did he answer
wrongly?

b & 40 ERE, NEEHT 75%, HEHETS D

2 ?
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18)  Walking from sports ground to school, Olivia spent 84 minutes, [2.2%]
Mia spent 4501 seconds, and Isabella spent 1 hour. Whose
speed was the fastest?

MREHGEHNER, NFRET 84 &, NERET
4501 F» INERTET 1 /NBF. FEREZRERFIR?

19) The price of lemon is $44/kg and the price of blueberry is [2.3%]
$75/0.5 kg. Mum bought 2.3 kg of lemon and 0.3 kg of
blueberry. How much did she pay?

BRAFRIERE M4 T, BFEAFHNESE 15T B
IBET 2.3 XTRERM 03 2FHES. Y75

DI5?
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20) Each cup of milk tea costs $15 and each mochi costs [2.4%]

$8.50. Betty had $87.50 and she bought 2 cups of milk tea
for her elder brother. At most how many mochi can she
buy with the remaining money?

MEENE 15T, XEBEE8.5t. BERE
87.5 &, MEE TWHWFEAITT, R THERS
o & KiESME?

21)  The average height of A, B, C, D and E is 128 c¢m. 2 people [2.5%]
join the group and their average height is 163 cm. What is the
average height of these 7 people in cm?

H. 2. 8. THAREABNEHESTE 128 EKXK.
B2 AN, MiE2 ABTFHEER 163[EX,
E7 AR FRGEESDEX?
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22) Find the perimeter of shaded region in cm. [2.6%]
(Take = 3.14)

UERBENM, KERBEFEMAR. EXw=3.14)

23) A cuboid tank is 8 cm long, 12 ¢cm wide and 15 c¢m tall. [2.7%]
There is some water in the tank, and the water level is
% of its height. What is the volume of water in the tank in

cm3?

—ERATESRKSEX, HI2EX, 5 15[EX,
EEEE &K, MKUZEH }#E’J— - BEMN
KBRS /DI FEX?
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24)  This year, Mum is % the age of Dad. Younger brother is 30 [2.8%]
years younger than Mum, and elder brother is 4 years older
than younger brother. If elder brother is now 6 years old,

what is the age of Dad?

4
éﬁ,%%mﬁﬁ%%%mgo%%wﬁﬁﬁﬂy)
F, MaFtkEdrRKk4FE. MRFFIVEOHK, EE
R E = E A7

25)  When 0.87 L of water is poured into the tank, the water  [2.9%)]
level will rise by 15 cm. Find the width of the tank in cm.

10 0.87 FEIKBINKIEEE , KEEFT 15 EH.
IR R B DBk

T ——

18 cm 15 cm

10 cm




26)
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There was a total of 250 red and blue pens in a school.
40% of the pens were red pens. After an activity, 20% of
the red pens and 10% of the blue pens were used up and

threw away. How many pens are left?

AMENEEERAGEE 20, A% ESZ
M+, FEENEERE, 20% HIAIEFRM 10% HEBEZEAT
. R THEEXES X

[3.0%]

27)

The circumference of the circle is 47% cm. Find the area

of the shaded region in cm?. ( Take 7t = % )

EHERE 47% EX. UEHEKRBEMN, REE

M MERE. (5 n=% )

4 cm

4 cm

[3.1%]
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28) David and his dad join the family beanbag race. David has [3.2%]
to run from point A to the center of the circular lawn to get
the beanbags, and then give the beanbags to his father at
point B. If the circumference of the lawn 1s 88 m, and the
average running speed of David is 4 m/s, how many

seconds will it take for David and his father to complete

the race? ( Take m = % )

EHRMEEESMTHRTFERILE. EHREMR AR
MEETEMHPOREER, BRERIEKGEB
HEHNEEFL. MREHANEFRE S K, MiaiaA
THERZEF 4R, ERNESEZ DI T HETH

EH? (Hxn=%>

P10
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29) 2 years ago, City A had x people. Last year, the population

increased by 5% compared to 2 years ago, and then

decreased by 5% in this year compared to last year. If the

population of City A this year is 11970, find the value of x.

FITRENRAEx A. ZEEAOLLWMERIEMT
5%, SELLEERVT 5% . MBESEFEREHAD
211970, 3k x BY{E.

[3.3%]

30)

P11

Solve the equation

M7z

[3.4%]
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31) At least how many consecutive even numbers have to be [4.0%]
chosen so that there must be at least one number that can be
divisible by 9?

mOZMEEEBET, BED—( AT O BFR?

32) What is the remainder when 422> + 3583123 is divided ~ [4.1%]
by 107

427 +35183_123 BRLL 10 HORRE 2 B AF?

P12
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Given a certain number has three factors. If the sum of the [4.2%]
number and twice that number 1s equal to 8427, find the
sum of all factors of that number.

EHAEHE=(EAEE. EZHEZEIMBEZME
Bt 8427, KZEIRIFEE ZH0.

34)

P13

Three bottles of solutions A, B and C are mixtures of alcohol [4.3%]
and water. A weighs 250 g, of which 12% is alcohol;

B weighs 300 g, of which x% is alcohol; C weighs 100 g,

of which 50% is alcohol. Mixing all three bottles of

solutions, the new mixture contains 40% of alcohol. What

1s the value of x?

AR ZA=HMBERE KM HNERERR. FE250%,
Hog 12% 2ififE: CE300%, HF x% 2iE#F
RE1005%, Hd 50% 2ifith. #=MBEHBTRE
A&, HRRER 40% HEH. xNERZD?
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35) Each sheep consumes water in a lake at a constant rate [4.4%]
while the water in the lake increases at a constant rate
every day as it rains every day. If 16 sheep consume the
whole lake in 8 days and 28 sheep consume the whole
lake in 4 days. How many sheep would be needed to
consume the whole lake in 16 days?

BEXHXGIHER—EM=RI/Kk, MABEMSFE
XHBET—EMEN™W, FFIAEXRIBERN /KA SIE NN
—EME. 16 EX15 3 XEIRTHERI/K, 28 EF
18 4 REBTHERK. ZDEFEE 16 XEIRTH
il b

P14
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36) When the sum of digits of month and days is 13, this [4.5%]
day is a “Lucky Day”. For example, 28" March means
“2+8+3=13"and 28" December means ‘2+8+1+2=13",
thus they are both “Lucky Days”. How many “Lucky
Days” are there between 1% anuary 2020 and 3 1¥'December
20307

ZRMMBEFRMEZFIE 13, AliesXxe [FH .
fftn, 3 A28 HEP [3+2+8=13] : 12 A28 HEP
[1+2+2+8=13] , frliEmX#P=E [FH] .
20201 A1 HE2030F 12 A 31 HZEBZWME

== R

P15
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37) Thereisajob. It takes 12 days, 18 days and 10 days for A, [4.6%]
B and C to complete the job alone respectively. If A and C
work together for 3 days, and then B completes the
remaining parts alone, how many minutes do A, B and C
take to complete the whole job this time?

— I, B. 2. REBERDHNEE 12X, 18
x. 10 Xx. BFIREEIET 3 X, B TITEEMH
CEBETR. B. 2MRAEXRERIEEET D

4yEE?

120 120 120 120 ,
3.9 27 8l

38) Find the value of [4.7%]

% 120 120 120 120

— + ... BB
3 9 27 81 1A

P16




39)  Solve (x—100)(x—92)—(x—100)(x—97)=10. [4.8%)]

MR (x—100)(x—92)— (x—100)(x—97)=10.

40) When a number is divided by 2, 3 and 11, the remainders [4.9%]
are 1, 2 and 4 respectively. And the number is divisible by
17. Given that it 1s a three-digits number, find the smallest
possible value of that number.

FERRIL 2 FIEREE 1. BRIL 3 HOBRENRE 2. BRIL 11
HERER 4, BT 17 Bff. EMZBEE=14
8, KB HIER/ANATREE

End of paper
£E5T

P17
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1
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67
: 5778 |o/2 == o= 3768|o= 9 |o
1
> 215 [o|» 2. o7 864 |g» 2863 o
1
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7
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° 39.1 O 726 O 215 O |* 256 O
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